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Extended Problems: Real-World Application

Problems Involving Fractions Answer Key

Starter feedback for correct and incorrect answers is provided. Use or adapt the feedback in this Answer Key as you grade students’ work. Answers will vary. Representative examples are shown here.
Olivia and Carlos are shopping at their favorite pet store.
1. Olivia buys a bag that contains a special mix of dog food to treat her 3 dogs. 
(a) Each dog gets a different fractional part of the food based on its weight. Max will get 
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of the bag, Jasmine will get
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, and Springer will get the rest. What fractional part of the whole bag of mix will Springer get? Explain how you found your answer.
(b) The special mix contains 
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 pound of dried chicken, 
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 pound of dried bison, and 
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 pound of dried vegetables. How many pounds of special mix does Max get? Explain how you found your answer.

Problem 1 (5 points)
Model Answer

(a) Springer will get 
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 of the special mix. 
If you add the fractions of the mix that Max and Jasmine get, together they’ll get 
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 of the whole bag of mix (
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). That means that Springer will get the rest (
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), so Springer gets
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 of the mix.

(b) Max will get 
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pound of food from the mix.
Sample explanation:  I added the number of pounds of each ingredient together (
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) and I got 2 pounds. Max gets 
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 of the mix, so I multiplied 
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 to find out that Max gets to eat 
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 pound of food. 

Award points for specific answers as shown below (for a total of 0–5 points). 

	Points
	Concept Addressed
	Feedback for Student Answers

	2
	Correctly states the fractional part of the mix Springer gets. (1 point) Clearly explains reasoning. (1 point)
	You need to add 
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 first to find out how much of the bag Max and Jasmine get. Subtract the sum from 1 whole to find out what Springer gets. 

	3
	Correctly states the total number of pounds of the mix.  (1 point) Correctly states the amount of mix Max gets to eat (in pounds). (1 point) Clearly explains how answer is found. (1 point)

	Add the 3 fractional amounts to find the total number of pounds in the bag. Then multiply to find out the fractional part that Max gets.


Feedback for completely correct answer:

You used what you know about fraction operations and reasoning about fractions to solve real-world problems.

2. Carlos looks for bird food to feed Julio, his pet parakeet. He feeds Julio a total of 
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cup of food each day. Julio is fed twice each day.

(a) How much food does Carlos give Julio each time he feeds him? Use an equation, words, and a drawing to explain your answer. 
(b) Carlos wants to try out a different bird food. He sees that a bag of Keet Supreme contains 20 servings of food and a bag of Veggie Blend contains 18 servings of food.  A serving is 
[image: image18.wmf]3
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cup of food. Carlos has a bin that holds exactly 14 cups of food. Carlos will buy the bag of food that contains the most food and that he can empty completely into his bin. Which bag should Carlos buy? Show your work.
Problem 2 (5 points)
Model Answer

(a) Carlos gives Julio 
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 cup each time. 
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If Julio is fed 2 times each day, that means each meal is 
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 of what he gets fed every day. That is 
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of 
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cup. I changed 
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 into 
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 so I could easily find half of the parts. So 
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of 
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 is
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.

Julio is fed 2 times each day. That means that 
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is divided into 2 equal parts that are each 
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 cup.
(b) Carlos should buy the bag of Veggie Blend because it contains 
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cups and can fit into his bin that holds 14 cups.
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Award points for specific answers as shown below (for a total of 0–5 points). 

	Points
	Concept Addressed
	Feedback for Student Answers

	2
	Correctly states the amount of food the bird is fed each time. (1 point) Correctly uses words, an equation, and a drawing to explain the answer. (1 point)

	Each time Julio is fed, he gets
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 of 
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, or 
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cup.

	3
	Correctly determines the number of cups in the Keet Supreme brand. (1 point) Correctly determines the number of cups in Veggie Blend. (1 point) Correctly states Carlos should buy the Keet Supreme. (1 point) 
	Multiply 
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  to find the number of cups in a bag of Keet Supreme. Multiply 
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 to find the number of cups in Veggie Blend. Which amount is the most that could fit into a 14-cup bin?


Feedback for completely correct answer:

You multiplied fractions to solve real-world problems, some of which involve making decisions.

3. There is a special sale at the pet store. You can buy a fish bowl and get 6 free goldfish. Carlos and Olivia each buy a bowl and get 6 fish. They want to keep track of their fishes’ growth, so they carefully measure each fish and record these lengths:
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(a) Plot the lengths of each of the 12 goldfish on the line plot.
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(b) Which is greater: the amount of fish that measure 
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 inches or less in length or the amount of fish with a length greater than 
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 inches?

(c) If Carlos and Olivia could line up all the fish up from end to end, how long would the line of fish be? Show and explain the strategy you used to find the total length. 
Problem 3 (6 points)
Model Answer
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(a) There are more fish with a length greater than 
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 inches.

(b) The fish would make a line that is 
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inches long. I used the line plot to help me combine the data and either add or multiply. I doubled 
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to get
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. I added 
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. Then I multiplied 
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 and multiplied
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. Then I added up the 5 totals and got 
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Award points for specific answers as shown below (for a total of 0–6 points). 

	Points
	Concept Addressed
	Feedback for Student Answers

	2
	Correctly represents all 12 pieces of data on line plot. (2 points; give 1 point if 10 or 11 pieces of data are correctly represented.)
	Check to see that all 12 fractional pieces of data are correctly represented on the line plot. 

	1
	Correctly compares data from the line plot to find the number of fish lengths that are greater than 
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	There are 5 fish that measure 
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inch long or less, so 7 fish must be longer than 
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	3
	Correctly finds the total length. (1 point) Clearly shows calculations for each step. (1 point) Clearly explains strategy for finding the total length. (1 point)
	Combine like amounts on the line plot. For example, there are 3 fish that are 
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inches long, so
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. Then add the total amounts together for each length.


Feedback for completely correct answer:

You correctly organized and represented data on a line plot. Then you used the data to solve problems.

4. Think about what this equation means:
3 ÷ 
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 = n
(a) Write a story that could be represented by this equation. 
(b) Create a drawing that represents and helps you solve the problem. Write an explanation of what the drawing shows.

(c) Solve the problem.
Problem 4 (4 points)

Model Answer
(a) Jason is making muffins. Jason has mixed up 3 cups of batter in a bowl. The recipe says to pour 
[image: image71.wmf]1

4

cup of the mix into each space in the muffin pan. How many muffins will Jason have from the 3 cups of mix?

(b) The problem is asking how many 
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s are in 3. In each of the 3 cups, there are 4 equal parts or 
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s. That makes 12 parts in all.
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(c) The 3 cups of mix will make 12 muffins.

Award points for specific answers as shown below (for a total of 0–4 points). 

	Points
	Concept Addressed
	Feedback for Student Answers

	1
	Correctly creates a story to match the equation.

	Make sure your story is about finding the number of 
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s in 3 wholes.

	2
	Correctly creates a drawing that represents the problem. (1 point) Clearly explains the drawing. (1 point)
	Your drawing should show 3 wholes that are each divided into 4 equal parts. You can see 12 parts that are each the size of 
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.

	1
	Correctly solves the problem.

	Review what it means to divide whole numbers by fractions.


Feedback for completely correct answer:

You used what you know about dividing a whole number by a fraction to represent and solve a real-world problem.
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